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Multiplication and Division
End-of-Strand Assessment

Name: 				        Date: �

1.	 Circle the even numbers. 
 
 
 
 
 
 

2.	 Circle the number that is a multiple of 
2, 5 and 10. 
 
 
 
 
 
 

1 mark

1 mark

1 mark

2 marks

3.	 Write two division and two multiplication 
facts to match this array. 
 
 
 
 
 
 

4.	 Match the words to the correct operation. 
 
 
 
 
 
 
 
 
 
 
 

35

24

18

20

25

6

times

divided by

multiply by

shared

lots of ×

÷

45
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7.	 Circle the two models that represent 
the same multiplication and record a 
matching calculation. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

5.	 Match the model to the correct calculation. 
 
 
 
 
 
 
 
 
 
 
 
 
 

6.	 The baker makes 80 gingerbread men. He 
puts them into bags of 10. How many bags 
will he need? 
 
 
 

1 mark

2 marks

1 mark

8 ÷ 2 = 4

4 × 10 = 40

 
 30 = 5 × 6

10 10 10
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2 marks

	10.	Write three odd numbers between 
10 and 20. 
 
 
 
 

	11.	 How many tens make 60? 
 
 
 

	12.	Draw the big hand on the clock to show 
where 10 minutes past would be. 
 
 
 
 
 
 
 

	9.	 Circle the mistake.

1 mark

1 mark

1 mark

1 mark

22 ÷ 2 = 11

15 = 3 × 5 

100 ÷ 10 = 1

35 ÷ 5 = 7

	8.	 Complete these calculations. 
 
 
 
 
 
 
 
 
 
 
 
 
 

3 × 2 = 5 × 9 =

12 × 5 = 2 × 7 =

10 × 7 = 11 × 10 = 2 marks
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2 marks

	14.	Do you agree or disagree with these 
statements? Explain why. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

2 marks

If 5 × 10 = 50,   
then 10 × 5 = 50.

 If 50 ÷ 10 = 5, 
then 10 ÷ 50 = 5.  

	13.	The gardener plants 10 rows of carrot 
seeds. Each row contains 8 seeds but only 
half of them grow. How many carrots 
grow altogether. 
 

1 mark
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2 marks

	17.	 Complete this bar model to match the 
calculation. 
 
35 ÷ 5 = 7 
 
 
 
 

	18.	Complete the stem sentence to match 
the image.  
 
There are            equal groups of            . 

Total 
23 marks

1 mark

1 mark

	15.	Complete these calculations. 
 
 
 
 
 
 
 
 
 

	16.	Write a division calculation to find ½ of 18. 
 
 
 
 
 
 
 
 
 

7 ×             = 14 12 ÷             = 2

       × 3 = 30        ÷ 12 = 10

55 = 5 × 5 =              ÷ 4

÷              =

½ of 18.

2 marks

1 mark
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